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Sl ] A QUESTION This turgs out to be an unambiguous, doable problem
=l ()f F[IME from the 19" century puzzle master Sam Loyd ([1]). It is
l?-'{p based on an observation about jewelers’ signs of the times.

I thought I would include Loyd’s narrative in its entirety.

A CURIOUS paragraph has been going the rounds of
the press which attempts to explain why the signs of the
big watches in front of jewelry stores are always alike.
They are painted upon the dial, apparently in a haphazard
sort of a way, and yet they invariably indicate a certain
number of minutes past eight. It cannot be attributable to
chance, for it would tax one's credulity to believe that such

Pr0p0s1t10n When the hour and minute a coincidence could occur all over the civilized world.

hands are at equal distance from the six . .
hour, what time is it? There is no accepted rule or agreement established

with the jewelers or sign painters, for careful inquiry
proves that few of them are aware of the fact or ever noticed that any two are alike, it would be a
marvelous case of unconscious imitation if it is looked upon as a mere custom, accidentally following
a pattern set by the originator of the device of the sign of a big watch. In London, where they take
pride in such things, I saw several big watches, looking as if they had hung in front of the stores for
countless centuries, all indicating the same mysterious time, accompanied by the announcement that
the firms were established a couple of hundred years ago. I do not doubt for a moment that some such
similar sign can be found at Nuremberg, where the watch originated during the Fifteenth Century.

The discussion seems to have brought out a recognition of the fact that from an artistic point of
view, symmetry requires that the hands should be evenly balanced, as it were, on both sides of the
face of the watch.

If they are raised too much there is a certain “exasperating, declamatory effect,” which is not
altogether pleasing.

The time would be incorrect if the hands pointed at 9 and 3, and at other points would be too low,
so, as a matter of fact, and from an artistic point of view, the position is well selected and is one of the
points which, with the aid of a watch, can be shown to be possible. It is a fact however, that the mere
puzzle of telling what time the watch indicates, has been held up to public gaze for all these centuries
without being thought of or solved?

Take your watch and set it to the time indicated, with the hands at equal distances from the six
hour, which shows it to he a possible position, and then tell what time of the day itis! ...

My Solution

I followed the pattern developed for the “Fallen Clock Puzzle” posting." The key is to convert
everything into minutes. From the previous post:

Suppose the time is given in /4 hours and m minutes. First, we wish to find out where the
hour hand would be in minutes. Each hour represents 5 minutes on the clock and each minute

" http://josmfs.net/2020/05/23/fallen-clock-puzzle/
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1s 1/60 of an hour and therefore 1/60 of a 5 minute interval. So in terms of minutes, the total
time for the hour hand is given by

hS + (m/60)5 = 5h + m/12 (minutes)
The minute hand is given simply as m minutes.

We can assume the hour is 2 = 8. Then the hour hand is the same number of minutes after 30
minutes (the 6 hour mark on the clock) as the minute hand is before 30 minutes. So

(58 +m/12)-30=30-m (D)
SO m=20-12/13 =240/13 = 18.46 min = 18 min 27.69 sec

In terms of fractions, this is 18 minutes 27 %/ 13 seconds. So the time is 8 hours 18 minutes and 27 % 13

SSCONS. Table 1 Symmetric Hour and

Comment. Of course, there is nothing unique about 8 hours. Minute Hands around 6 o’clock

Equation (1) can be written generally as s || s | esrnne
m= (12 -h)-60/13 6 27 41.54
. . . . 7 23 4.62
which yields Table 1 at right. Perhaps the 8 hours provides the g T 2769
most pleasing appearance with the most space for adding any -
printing on the face of the clock sign. (Of course, there is another 9 13 50.77
set of values if the hour hand is on the right and the minute hand 10 9 13.85
on the left of 6 o’clock.) 11 4 36.92

Loyd Solution

Loyd’s full answer ([2]) has a digression that is quite interesting. Loyd’s “solution” is basically
just an answer without explaining how to arrive at the result.

In giving the answer to the big watch puzzle, which was to tell the time of day always represented
upon the signs in front of jewelry stores, I wish to correct a curious misapprehension which seems to
have taken hold of the public mind. I was not surprised to find that almost every correspondent who
vouchsafed an opinion on the subject stated that it was a well known fact that the time given upon the
clocks was intended to represent the hour when President Lincoln was assassinated. This rumor
originated from the fact that many public clocks were stopped at 7:22 a. m., to represent the moment
when Lincoln died, but the official records show that he was shot at exactly 10:30 the night before.
There is no connection, therefore, between the death of Lincoln and the time upon the sign clocks,
which, as a matter of fact, was adopted several hundred years ago, for the sake of symmetry, and to
give a convenient space for displaying the jeweler's name upon the dial. The exact time, as indicated
upon those sign clocks, with the hands at equal distances from the figure 6, can only be 18 and 6/13th
minutes past 8, or as it may also be expressed: 8 o’clock, 18 minutes, 27 and 9/13th seconds. It
constitutes a puzzling little problem which many good mathematicians failed to master.
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